BT ERET2— 2 B

T ER 7, 7 H XL EMO —MEKIEIC >N T

BT PER 7 7 3523 £ e 2
DEIHIICHIET 5,

SF 54 3 H31H

(5 Fn 2 FF AT ERH129%)

D — B & IR

mET R it # 5

FH3IRT THESRKIIHETLIHAROBEHFEOMEE X CMER] 2 15 1%

DEFHE1IEICHET AHRENIZIFES28F 1EHICHET ABET] %D
%

BOLF1IHKS T Tx] 2 TL&, | %D Db,
BIRFE1EZRDOLHIICLD D,

¥ D ENE T E H O &4

mmlH 172 A 10,000 H, 7277 L. —&IHW=EFNHD
(10 B~ H 14 ) & 8,000 M,
ZEo%E,. 2 NBUKEKE 1L ANICSX 2,400 [

mmH 273 H 20,000 H, 7272 L. —#&HEFHD

(10 BKF~F »x H 14 )

%6 16,000 M,

Zho%a,. 2 NBURK 1 AICDE 4,800
WA 1 HBEDY 4,500 M
Zho%a,. 2 NBURK 1 AICoE 800
A 1 BB 3,000 M
Zho%a. 2 NBURK1 AICSE 1,500 [

BRAFE 1 HFEZROLHIIZHD D,




HAE 1S (5

mEmE

7 RBER)

& T

T ER 7 7 S 2R H

&5
Giks] {E Bl
K Za
Bk &
At

ETEZY T EEXE2FHALEVWO T, METESY 7 BXEREME 7
FEIEOBRTEICIVRDOEBYHEFELET,

R ORE Y T5EF720THE, ) T v W T = [ 750
M HE KA A | T
R K4 4 fih Wl Mk
5
%O)EEZ' (ZHOHHFITTAL TS EE N, )
Wk
H PE i 7%
Hi 7 A A H [WERmE | A H
BpE (P E) B 25 H H
A B s A 2 A 25 H H
H 3 B
lie 4 5% 1 EAEH A
[A] J& 52 1R IR
Gi=g=
PE% T T HEMAICHZY, RPBTHMHEOW AKX D E2 BT 52 & EKOH &
FHEEEBEELIEHREEE T LI EICHAELE T,
fmEhE & T
H G K 4
LN = A
[ 77 5c & A ]
B ok ae
% AH4E A B £A H O [wEFEAR | 4 A H
HERHAHX S AEVEMR A (SakR) - TRBIIEMBHE F%) - oo i H
(EZ) 1 ABofzasm ALCTL S0,

2

COoOHFEELRETI LR, BFREFEzEZLTIEZS N




I

B2 s (A 2 TF) o, TARBLET) &2 TARLET, |
CTERRBLERA &2 TRRBLEYA, | ICED D,
BRE3BEROL I ICKD B,

k=]



A 35 (BB11ZRBR)

BT PER 7 7 R R A R W

F O (ER{ER 1 i s
M & E P
M A K 4
+ DR
A A & H H

) REEHEKOCATEREO RS
) HEEHICET LI L,
) ARoOKm., RACEITLIHBEEToOMmOFIRE

HEFEIEONE| (1
(Y34 25b0% | (2
OTHATLSEE ] (3
W) i

4) OB e R bR

SR AR K O B pE
Fifi BT S

ERAMMECKH L, MEBETERS T EELZERLIZOT, RETERT T
FEEMEMBLIIZE1IHOBEIZ LD HELET,

iR & T
7 R R R K B 4
AT 75 1
4 B
(V3




BRAFHE A ZEZRO LI IZHD D,



A 4 5 (GB11ZRBIR)

RETTER T, 7 HXLFERFERE

4 !

5 1 S e ) £ H HBH»H £ A HETORAEN
PER T T EERERE LT, METEXRF 7T FEEMEMELI1ILRE 1 H
DHEIZELY, O ELBVHERL E T,

B
I A ] 4 e % Ih Y
I (2 ABUIFE. 1 ACoX)
] & Fy &
& st Fy
25 H H
faEmE »T
7t = R K B A%
AT 7F Hh
% FR
= H F
Iz IA O
£ R B 4, ¥ 1 4
1 ) ) il % i i
(70 HF)
04 F# A




Ol
e
=

COETRIZ, FMSHE4A4A 1L BENLHITT S,

N



